|-

y

S=1:1000

MIIER L=123.0m

Bil [ 5 T & Al

xE A=1170m
tEIF—N—L a4 (FEE) A=1170m
tIEIA—N—L4a (BB 2[E) A=150m

%ﬁ % *ﬁ E‘ZS:I:IO

oh N p/ 9, 4 -
2O B o m K s=t:50
xE (BEZREAN-NRITNL 3
HE (BEHERBEAN-IAITI) 3
N ﬁ e ﬁ )
4750 4750 FEFE K CBR20%LLE
= S = ———————— . A gy =
S S EESEHE
i oEm X & = 25011 E10002K i (N SE%E1490%)
% & Cc B R 2 0%
2 Al iz ¥ E & EEBRERE|T A
= B | BEZEHNEAN-FTAI?ME 5 1. 00 5 00
55y HIEHL— b (H5ZEM) EfE (BEBHBEAL-ITAIM e £ B | BEMKEAL-FTAIINE s| 1.00 | 5 00
=0 0K i Sy H=5" = i = = s =
HE (BEWEEA-2770E) t=5em BEERERER | 77vvy-5 (BRER R B) 26| 0. 20 5. 00 HEES £ 1 #Hw 1 B
& Hi 35 15. 00
= _ B E REERRIE (70 2)
EEE %ﬁ t=25cm g =l 15. 00 — - FHIEE-FgEKﬁ <3
X B iz & (cm) X w4 FF TEE - EESEE
41 s o k
5 R =
WEEAH
EREHA
KFhm&ESBHERDEREK:I




